S12

MA 22400 Exam 2 — Answer Key

SO, YOU CAN KNOW ALL THE CORRECT ANSWERS TO THE
QUESTIONS, IN SPITE OF THE TYPOS...

Question Number Green Version Orange Version
Form A Form B

1 D 5

2 E B & C combined
3 D 5
4 C B
5 C 3
6 E y
7 B 5
8 A 3
9 A c
10 C c
11 E 5
12 D X

Form B #2 — Combining the answers/conditions for both B & C together is
the correct answer to the written question.

Form A #11 — the y-coordinate for the third point in answer E should have
been -1, as was given in the problem statement.




